
why is the cytoplasm basic? 

- Most proteins in the 
cytoplasm are positively 
charged due to arginine and 
lysine amino acids residues; 
eosin in negatively charged 
so it binds to these positively 
charged residues, staining the 
protein pink 

 

 

x DNA is acidic, and therefore haematoxylin strongly stains the nucleus; aditionally RNA in 
ribosomes and rough endoplasmic reticulum stains strongly with haematoxylin 

 

 

 

 

 

 

 

CANCER GRADE: how different are the cancer cells from the healthy ones near the origins; a lower 
grade indicates a slower-growing cancer and a higher grade indicates a faster-growing ones 

CANCER GRADE: staging is a way of describing the size of a cancer and how far it has grown; when 
identifying cancer, doctors carry out tests to check how big the cancer is and whether it has spread 
into surrounding tissues; they also check whether it has spread to another part of the body 
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